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6.4-18

Case No. | Position
1 - 8392 8000
6 - 57200 57000
! 7 - 4064 4000
8 > 9332 9000
1 - 8566 9000
6 - 59595 60000
2 7 - 4129 4000
8 > 9481 9000
1 - 8009 8000
6 - 40896 41000
3 7 - 4016 4000
8 - 9221 9000
1 - 8166 8000
6 - 44847 45000
4 7 - 4082 4000
8 - 9372 9000
1 - 8423 8000
6 - 54625 55000
5 7 > 4071 4000
8 - 9347 9000
1 - 8608 9000
6 - 64218 64000
! 7 - 4136 4000
8 > 9497 9000
1 - 5716 6000
6 - 36591 37000
8 7 - 3800 4000
8 > 8724 9000
1 - 8390 8000
6 - 53411 53000
10 7 - 4095 4000
8 > 9403 9000

- 6-155 -




6420 6
6.4-19
Case
A -
B N 4000
C N 6000
D - 8000
E - 9000
F - 37000
G N 41000
H N 45000
[ - 53000
J - 55000
K N 57000
L N 60000
M N 64000
6.4-20

Case

A -

C N 6000 B 4000

E - 9000 D 8000

H - 45000 F; 37000 G:41000

K - 57000 | 53000 J 55000

M N 64000 L 60000
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6.4.2

6.4.1 MC-BUFFER
6.3.1 HLW
70cm 60cm 6.3.1
EDZ 6.3.1 10
6.3.1
100 47
24 6.4-21
6.4-21
Temparature 25 Temparature 25
pH 6.8 pH 6.3
Eh 210 mVv Eh -210 mVv
Na 9.74E-02 mol/L Na 3.37E-01 mol/L
K 2.56E-03 mol/L K 4.09E-03 mol/L
Ca 2.75E-03 mol/L Ca 4.24E-03 mol/L
Mg 247E-03 moal/L Mg 6.99E-03 mol/L
250E-02 mol/L C 1.92E-01 mol/L
S 9.60E-04 mol/L S 1.03E-03 mol/L
cl 9.00E-02 mol/L cl 2.61E-01 mol/L
Fe 2.36E-04 mol/L Fe 1.79E-06 mol/L
S 3.34E-03 mol/L S 1.74E-03 mol/L
6.4.1
13 A M 6.4-22
24
M 37,000
6.4-23 13
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19cm

EDZ

6.2.1



C E
Mg 8,000
6.4-22
100,000 C M
6.4-22
[ ] [cm] [g/emd] [Bnt : QtZ] [em] N
A 100 47 70 1.6 7:3 60 0
C 100 47 70 1.6 7:3 60 6000
E 100 47 70 1.6 7:3 60 9000
H 100 47 70 1.6 7:3 60 45000
K 100 47 70 1.6 7:3 60 57000
M 100 47 70 1.6 7:3 60 64000
6.4-23
A 0 - -
C 6,000 B 4,000
E 9,000 D 8,000
F 37,000
H 45,000
G 41,000
I 53,000
K 57,000
J 55,000
M 64,000 L 60,000
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6.2.1

a A
A 6.4-59 6.4-62 A
100,000 0.42 glem®
6.2.1 1 0.68 g/cm®
A
1
100,000 5>10™ m/s
8,000 410" m/s
35,000
Eh 4,000 Eh -540 mV
-630 mV 6.2.1 2
S(6) SO~ C(4) COs” S(-2) HS C(-4) CH,
Eh SO~ COy” H*
H H, Eh 500 Eh
HS H, Eh
6.4-60 6,000
EDZ
8,000 EDZ 10,000
100,000
EDZ CSH
Ca Cdcite
EDZ
EDZ 35,000
67,000 0.2 45,000
Greendlite
Greendite 18,000 Pyrite
Greendlite 57,000
Magnetite 65,000
Greendite  Magnetite 100,000
EDZ
500 Pyrite Pyrite
AFm S AFm
5,000 Pyrite
100 Magnetite
Magnetite 700 Pyrite 5,000 Magneite 27,000 Berthierine
Magnetite
9,000 Al 10° mol/L
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AFm HT
Al
Mg

Mg 10° mol/L
Stage
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de 06 g ﬂ
6 5 < -300 8
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Porosity = -400
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\ 03 4
" 02 -600
01 -700 2
Y -800 0
10 100 1000 10000 100000 1 10 100 1000 10000 100000
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c
8
5 110
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1E-14 L . . L
1 10 100 1000 10000 100000
Time [year]
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C 6.4-63 6.4-66 C 6.4-63
100,000 0.26 g/cm® A
6,000
6.4-64 1,000
57,000
CSH
A
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100,000 CSH 6.4-65
OH" 100,000
100,000 5.0<10%° m/s
A 1 7,000 7.0<102 m/s
OP Eh 3,000 530
mV -620 mV A Sol COs* Eh
H* H, Eh -650
mvV H, 100,000
6.4-64 45,000
6.4-66 5010 m¥s
A 15%<10Bm¥s 2 A
Greendite OH
Pyrite 45,000
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Eh
6.4-65 6,000 OH
1,000
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2 EDZ
Mg
10° mol/L C
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E 6.4-67 6.4-70 6.4-67 100,000
0.26 g/cm® C
C 9,000 12,000
7.0<10" m/s C 1
6.4-66 6.4-70 9,000
C
3,000 oP Eh
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Eh
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K 6.4-75 6.4-78 6.4-75 100,000
0.62 glem® H
H 80,000 10,000
100,000 1.0<10" m/s H
oP Eh C EH
3,000 H, Eh
6.4-76 CSH
CSH  5,7000 58,000
CSH Lmt S
Greendlite Lmt CSH
Lmt
Lmt Lmt
6.4-77 Mg
9,000 Sepiolite 100,000
mol/L H
H
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0 14
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-500
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10 100 1000 10000 100000 10 100 1000 10000 100000
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Greenalite Pyrite
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57,000 80,000
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1E-3 - 1E-3 - g
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1E-6 1E-6
64,000 100,000
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1E+1 1E+1
1E+0 1E+0
1E-1 —=Al 1E-1 —=Al
1E2 ——C 12 ——0—o—0—oq ——C
S sl ?L*—'—‘—‘—N ca S ot % Ca
S 1B | —cl s Y |—a
E qpaq | | —Fe E qpa} —Fe
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1E-9 -\—"‘__‘ — OH- 1E-9 | —OH-
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E 1E4 —Fe E 1Ea —Fe
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1E-6 Mg 1E-6 Mg
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1E-16 00 1E-16 00
64,000 100,000
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M 6.4-79 6.4-82 6.4-79 100,000
0.62 glem® K
K
K 100,000 1.0><10"
m/s 1.0<10"° m/s
OoP Eh K
6.4-80 64,000
CSH CSH 57,000 K
80,000 CSH
66,000 K 58,000
64,000 Magnetite
K Greendlite CSH 58,000
Magnetite 80,000 Greendlite
Magnetite Greendite 65,000
CSH
6.4-81 K Sepiolite
100,000 10° mol/L
H K
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6.4-80
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6.2.1

6.4.1 13

Mg
E M 10° mol/L

24
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6.4.3

6.3.2
6.4.2
4,000
6.4.4
6.3.3 Mg
A C Mg
1.0>< 10" g/m?/day
8000 Mg
1.0><10° g/mP/day 9000
8000 9000
1.0><10" g/m?/day
g/mP/day
A 0 100000  1.0E-3
C 0 100000  1.0E-3
E O 800  10E-3,8000 9000  1.0E-1 9000
H O 8000  10E-3,8000 9000  1.0E-1 9000
K 0 8000  10E-3,8000 9000  1.0E-1 9000
M O 8000  1.0E-3,8000 9000  1.0E-1 9000
6.4.5
6.4.2
6.4-83
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6.4.2

log [Kd (m*/kg)]
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6.4-24 Se Cs
6.4-4 6.4-3
Ra Th Pa U Np Pu Am
Cm RAMDA®
RAMDA

6.4-24

m3/kg

[m*/kg]

8

2E-02 |H25 0.3%

8

2E-02 |H25 0.3%

1E-01 |H25 2.2%

8

1E-01 |H25 2.2%

8

3E-01 |H25 6.1%

™ N
g g
< |~ < b= <=

3E-01 |H25 6.1%

6E-0L |H24 @) 1.3% 0.IM

2E-0L |H24 @) 1.3% 0.3M

1E+00 [H24 @) 2.2% 0.1M

4E-01 |H24 @9 2.2% 0.3V

1E+00 |H24 @) 3.2% 0.1M

5E-01 |H24 @) 3.2% 0.3M

Ra Kd>0m'/kg

25 14
5E-01 |11
~14 4E-1m’fkg 2E-1m'kg
RAMDA
RAMDA

2
5E-1m’/kg
5E-1mkg

Ra 3
Ra Kd>0m'/kg

25 14

11 2E-2m/kg 7E-3mkg
RAMDA
RAMDA

2%
3E-2m’/kg
5E-2m/kg

5E+00 |Am

S5E+00 |Am

1E+00

Th 1E+00 |H25 pH 0.3m3/kg

1E+00
Pa 1E+00 Th

1E+00
1E+00

1E+00
Ne 1E+00 Th

1E+00
Pu 1100 Th

Am K d>0m'/kg

5E+00 3 3
2E+0m'/kg 8E+2m/kg

Am SE+0m/kg
RAMDA

86 9

SE+1m’/kg

RAMDA

Am Kd>0m'/kg

5E+00 %
RAMDA

5E+00 |Am

Cm

5E+00 |Am
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6.4.6
6.4.2
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6.4.7

a
300m
6.4-86
0.3m/
0.3m/ 0.3mm/
6.4.1
>
>
6.4.1
> Pl 300m
> P2 300m
> P3 300m
> P4 400m
> P5 400m
> P6 500m
> P7 500m
> P8 600m

0.3mm/

6.4.1

6.4.1
H2
H3
H2
H2
H2
H1
H2
H1
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6.4.6
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/ /
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6.4.1
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2
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345 7 8 10 =8 PL 2 3456 7 8 64
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] PR 5A — BORED - e COMEmRE(  FeoULroUl
HhEER *ﬁ:’;’f@)jﬁi— ' . o gﬁ\'%ﬁﬂﬁ DD FKBHNTGA—REETE
DYD — - KR — 51 MR URED
Ll = — ERBkER HEHES RO kIR
OHEEEEE
1K/ BRI R — EHRERED ~— BLE TRk
L OB BK/BKER BRI LD
L N EnmEaEIC S5 R - 300m —I2&3
R H U INSA—BRE
6.4-86 300m /
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6.4-25

[mm/y] [mm/y] [m]
P1 H2 300 E H2 E
P2 H3 300 A H3 A
P3 H2 300 A H2 A
P4 H2 400 A H2 A
Casel 03 0 > P5 H2 400 A H2 A
P6 H1 500 K HL K
P7 H2 500 C H2 C
P8 H1 600 E H1 E
PL H2 300 E H2 E
P2 H3 300 A H3 A
P3 H2 300 A H2 A
P4 H2 400 A H2 A
Case2 03 0 © P5 H2 400 A H2 A
P6 HL 500 M HL M
P7 H2 500 C H2 C
P8 HL 600 E HL1 E
P1 H2 300 E H2 E
P2 H3 300 A H3 A
P3 H2 300 A H2 A
P4 H2 400 A H2 A
Case3 03 03 > P5 H2 400 A H2 A
P6 H1 500 H HL H
P7 H2 500 c H2 C
P8 H1 600 E H1 E
P1 H2 300 E H2 E
P2 H3 300 A H3 A
P3 H2 300 A H2 A
P4 H2 ~400 A H2 A
Case4 03 03 © P5 H2 400 A H2 A
P6 H1 500 H H1 H
P7 H2 500 C H2 C
P8 HL 600 E HL E
P1 H2 300 E H2 E
P2 H3 300 A H3 A
P3 H2 300 A H2 A
P4 H2 400 A H2 A
Case5 03 0 > P5 H2 ~400 A H2 A
P6 HL 500 K HL K
P7 H2 500 C H2 C
P8 HL 600 E HL1 E
P1 H2 300 E H2 E
P2 H3 300 A H3 A
P3 H2 300 A H2 A
P4 H2 400 A H2 A
Case? 03 0 ° P5 H2 400 A H2 A
P6 H1 500 M HI M
P7 H2 500 c H2 C
P8 H1 600 E H1 E
PL H2 300 C H2 C
P2 H3 300 A H3 A
P3 H2 300 A H2 A
P4 H2 400 A H2 A
Case8 03 03 > P5 H2 400 A H2 A
P6 HL 500 H HL H
P7 H2 500 C H2 C
P8 HL 600 E H1 E
P1 H2 300 E H2 E
P2 H3 300 A H3 A
P3 H2 300 A H2 A
P4 H2 400 A H2 A
Casel0 0.3 0.3 o P5 H2 =400 A Ho A
P6 HL 500 K HL K
P7 H2 500 C H2 C
P8 H1 600 E H1 E
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GSRW-PSA

6.2.2
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6.4.1 6.4.6
6.4.1 6.4.6
6.4.1 6.4.6
6.3-8 6.3.6 b
6.4-26 6.4-25
6.4-26
6.4-26 A C
E H K M 6.4.1 6.4.5
6.4-25
6.4.6
6.4-87
6.4-25
Casel 2 3 45 7 8 10 6.4-26
A CEHIKM
6.4-26
opP
kg/m*/y mol/m? mi/y m*/kg - mry
( (cm)
A 25 | 60 4,000 3.65>10 4,000 A A A A
0 6000
C 25 | 60 6,000 4000 36510 4,000 c c c c
0 9000 -4
: 365>10™ 4,000 8,000
E 25 | 60 9,000 4000 36510 8000 E E E E
0 45000 -
g 365>10™ 4,000 8,000
H 25 | 60 45,000 4000 3655102 8000 H H H H
0 57000 -
. 365>10™ 4,000 8,000
K 25 | 60 57,000 4000 2655102 8000 K K K K
0 64000 -4
y 365>10™ 4,000 8,000
M 25 | 60 64,000 4000 2655102 8000 M M M M
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